Nombres Carrés (G)

Nom: Date:
Trouvez le nombre carré de chaque nombre suivant.
552 — 562 = 852 = 232 =
122 = 912 = 41% = 71% =
72% = 6> = 60° = 24° =
652= 932 = 87 = 5=
582 = 842 = 8% = 76 =
36% = 26% = 692 = 302 =
70% = 382 = 74% = 682 =
12 = 922 = 592 = 952 =

Résultats: /32
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Nombres Carrés (G) Réponses

Nom: Date:

Trouvez le nombre carré de chaque nombre suivant.

552 = 3025 56> = 3136 852 = 7225 23% = 529

122 = 144 912 = 8281 41% = 1681 712 = 5041

722 = 5184 6> = 36 602 = 3600 24% = 576

652 = 4225 932 = 8649 872 = 7569 52 = 25

582 = 3364 842 = 7056 82 = 64 76> = 5776

362 = 1296 26> = 676 692 = 4761 302 = 900

70% = 4900 382 = 1444 742 = 5476 682 = 4624

1= 1 922 = 8464 592 = 3481 952 = 9025

Résultats: /32
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